%0 BEAABE CROR = F3a
210 |BiuFsEsE U I— R TR R ERDNBI8E. BN TRERNSEAN o O MEORBDNFNAEEHET S

4 i 38

1:is8/ep 10:m 20:sm 30:EEENOS
40 . pmAimp /S8 5 e85 H2: 81
325 [BEREE 61 :s5e/ 582 62:a2/ad

Tl imilas TZ2:ailsad]

88 EFTENOS 99 R 97 : JELIIRE

>

" OJ—5F2Z M) BED A et CAE = R R

340 |#HHSiZHTS 80— EE TR+ HEBON3BE. BN TRENEEAN = O | ® |smowmsomtolsndERmss
360 Xigas 145 28 O A
370 e 15 2| OABg A
2 | 380 = |B3E 148 2% O A6 A
ﬁ 390 | ® |[EEv-h- 15 28 ORg A
$E 400 & CT/MRI 175 2# 9 g A
410 B2 |R 18 22 OA6g A
420 B 18 2% OF88 A
430 AR 175 2% OXeg A
440 |EBERah s A
7 | 450 [Oemmre El5 A
m | 470 HREBEDRG B | B A
& | 490 e b 10) kel =L} A
% | 510 RBENABOET IS A
& [540 |[\REH | BE WODBE B A
# 630 [aEEsamzm A
670 EH 1T Bt 2 MEOD A S MwssE O 68 A
630 ? ERTFA A
690 B ECZEBRG 166k 8 zoft 9 16 A
700 : Aw T a8k 2t 388 820l O A% A
= [ 790 REIDEE 15 2% OFeg A
# | 730 [F&H0 By A
& | 740 |E% 0BAA 1HEA 9T A
® 750 |28 A
760 |EwE A
770 |BEBEES A
780 |BFER A
790 |tHEE A
) 800 |zZEHR A
#=| 810 |#F=iR A
& 820 |TBE A
8] 830 |#@NTT A
%840 [N A
7| 850 [BDASENDBE el eLEH A
)} A

&=

860 |=i&H By




